Math 8CP- Chapter 4 Practice Test

Find the slope from the two points given.

1) (2,-2)and (5,7)
D A,
5-1 3

4) Find :éslope of each line from the graph. .

2) (3, 5) and (0, B)

575 [0

2
6) a) If the slope of aline is. 3@ line parallel to it has a slope of

-2
b) If the slope of a line is 30 line perpendicular to it has a slope of

7) If it costs $15 for 5 bufr;ri‘ros, determine the following: ’é_’

a) The slope:

b) Interpret the slope using words:
c) Write the equation in y = mx form.

ALLEEED__

Bwtrﬂﬁ&nfd
oL
02
-1
D___ 4

v
- W Uﬂd;

3) (-4,7)and (-4, 3)

3-5. H
Z4-(4) 0

ys= 2 +3

’TJZtEZo)*’a
04—3
P
g—-~2tl)“’3
-243

2z

—

=,

-
=

-
s

nachned)

s _ 83
)

3 pey bwnto

U= 3y
J

Re-write in slope-intercept form. Then find the slope and y-intercept.

8) 4x-y=5

~-y=-Hx+5
j =Yx~-5

slope-int:

Slope: )
y-int: -5

9) -3x+10y=80
‘Dﬂ 3&“:@ ‘j ?"X'I*%

slope-int:

slope:

J
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y-int: K
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6raph each equation using any method.
10) y=>5x 11)
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Write the equation of the line in slope-intercept form. :
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Use point slope form to write an equation of a line in slope-intercept form.
16) (3,-4) m=2 | 17) (6,—1) m =§
y+4= 2(%3)
yri=2x-0
IH-— Zx—i 8] l
18) (-2, 1) and (3,-4)

L

—y.

-2_3 :—_S =
Y- -1 (x+2)
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“1=-\n-1
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